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Now you try!

1. What is the pH of a 0.200 M solution of HNO,? The K. of HNO; is 4.6 x 1072,
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2. The carbonate ion, CO32, is a weak base (Ky = 2.13 x 107%). Calculate the pH of a 1.3 M carbonate solution.
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3. The pH of a 0.010 M solution of benzoic acid, CsHsCOOH (a monoprotic acid), is 3.09. What is the ionization
constant for benzoic acid?
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Multiple Choice Practice

1. Which of the following could be added to an aqueous solution of the weak acid HF to increase the percent
dissociation?

a. NaF(s) H-0{l) ¢. NaOH(s) d. NHi(aq)
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2. Which of the following solutions will have the highest pH? ’r P H = J CHJ O j
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3. A weak monoprotic acid has an ionization constant of 1.0 x 1078, What will be the percent dissociation of the
acid in a 4.0-molar solution? ‘

a. 0.8% b. 0.05% @ 0.005% d. 0.0002%
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4. Which of the following solutions has the greatest percent ionization?

a. 0.20 M HC:H;30; b. 0.10MHCH:0, c¢. 0.050M HC:H:0; @ 0.010 M HCzH30;
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5. A weak monoprotic acid, HA, has a pH of 5.00 when [HA] = 0.25 M. Calculate the ionization constant of this acid.
a. 25x10° b. 2.5x10710 (c) 4.0x107 d. 40x10
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6. Acetic acid has an ionization constant that is approximately equal to 2.0 x 107, What will be the percent
dissociation of acetic acid in a 0.20 M sclution?
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7. Which of the following solutions has the smallest percent ionization?

0.20 M HNO; b. 0.10 M HNO; c. 0.20 M HNO; d. 0.10 M HNO;
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8. A 1-molar solution of a very weak monoprotic acid has a pH of 5. What is the value of K, for the acid?

1x10°10 b. 1x1077 c. 1x10™ d. 1x107
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